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BfERA S 5E108108 (X) FrYESITNLIHST
BEAE . FARNYTAHR (BEHDESL) SHAHK: 51N (B :51A - &iE:0N)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
RLA—IL: 0T D@B®E®® IN HMHB@®® a/2
RIBELRE : A—NYT 4 - &l FNRI - %0 54108108 (k)
I 32 SmES ouT IN GROSS HDCP NET H&E
B B mEF =X 40 41 81 15.9 65. 1 BG AE
EEH BHK F— 46 44 90 24.8 65.2 |AE
3 i | B8 & 43 39 82 16.6 65.4 |AE
4 fiI |BER BFE 45 44 89 22.4 | 66.6 |AE
5 i1 | MAH F 48 47 95 28.3 66.7 |AE
6 4 |AH &8 90 43 93 25.5 67.5 |AE
1 4| 5HI B 46 44 90 21.6 68.4 |AE
8 fi | xH EZ 52 53 105 36.4 | 68.6 |AE
9 i [#iK IEZ 45 42 87 17.7 69.3 |AE
10 i | R 41 44 85 15.5 69.5 |AE
11 42 | 1)l 15 48 o0 98 28.2 69.8
12 1 B FE o4 46 100 30.0 710.0
13 45 | MOER 3F3F 42 42 84 13.7 710.3
14 41 | &A 49 47 96 25.4 | 70.6
15 fi1 |73 Ml 42 46 38 16.6 11.4
16 i |imiZE #— 49 48 97 25.6 11.4
17 61 2l £F 43 42 85 13.4 11.6
18 ii =H & 41 47 88 16.0 12.0
19 £ R s 41 44 85 12.8 12.2
20 {1 | AHE == 40 42 82 9.4 12.6 |[RUE
21 b1 BB % 47 46 93 20. 3 12.17
22 i1 |Fh/hE HRE iy 49 96 23. 1 12.9
23 fi |fEH BX 45 42 87/ 14.0 13.0
24 1 | INB HE 44 40 84 10.2 13.8
25 41 /N7 FR 23 48 101 21.2 13.8
26 i1 | Kt Emh o1 45 96 21.9 14. 1
21 oo | #EW BE 48 02 100 25.9 14. 1
28 oL | RIR & 45 45 90 15.6 14. 4
29 fiI |[HE BX 39 43 82 1.2 14. 8
30 fif |BEH HX 42 42 84 9.1 14.9 |[RUE
31 fiI |lUA EF 48 46 94 18.9 715. 1
32 fi [#5K EZ 42 40 82 6.0 16.0
33 £ | HH Fif 06 o4 110 33. 8 16. 2
34 £ | RKFE QO 5k 48 49 97/ 20. 4 16.6 |%FAE
35 i | BLEF FEZER o4 47 101 24.3 16. 7
36 I FER = 06 95 111 33.6 17.4
37 I |RE IEH 95 o1 106 28. 4 17.6
38 i |[lLA BF 08 45 103 25. 1 17.9
39 fi | R BFE 92 02 104 25. 8 18. 2
40 {52 | J\3% ZBH 45 09 100 21.1 18.9 RUE
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B#RM . &0 54108108 (k) FyYESITNLTHIST
BmEAEx . FRYTAHR (REHEEL) SmAK: 51N (B :51A - &iE:0N)
HOCPLERR : BBtk :36.4 - &tk :40.4 $THUYHTH: FT)L/— (PAR x 2)
RLA—IL: 0T D@B®E®® IN HMHB@®® 2/ 2
RIEGGRE : O—Nn\VT a4 - & FNRI - %0 54108108 (k)

I 22 SmES ouT IN GROSS HDCP NET =

4 L | FES IENR 90 50 100 20.5 719.5

42 {1 |AIe F1E 93 99 112 31.4 | 80.6

43 7 (Ao E=— 45 49 94 13.0 | 81.0

44 f1 |/Nith BE 99 60 119 36.4 | 82.6

45 i1 | E BRK 93 49 102 19.3 | 82.7

46 1 | K #=— 92 06 108 25.0 | 83.0

AT 41 |BH F— 60 95 115 30.0 | 85.0

48 {1 |HAh =58 62 08 120 35.0 | 85.0

49 451 | EZE R 62 60 122 36.4 | 85.6

50 41 |;EH BX 58 49 107 18.6 | 88.4 |BBE

51 I | ¥R EZ 58 63 121 29. 1 91.9 | BME




